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Find the union of each of the o@rs Q&g&’

() X{L35)Y={123}

Question 1:

(i) A= {aelou}B {abc}
(i) A={x:xisa natural num@d multiple of 3}
B ={x:x isanatural numﬁb?fess than 6}
. @ N
(iv) A={x:x |sa|g§al number and1< x <6}

B = {x: xisa natural numberand 6 < x <10}


Stamp


A={a,e,i,o,u}B={a,b,c}

(v) A={1,2,3},B=0

Solution 1:

(i) X ={13,5}Y ={1,2,3}

X UY ={1,2,3,5)

(ii)

AUB={a,b,c,ei,o,u}

(iii) A={x:x isanatural numberand multipleof 3} ={3,6,9...}
As B ={x:x isanatural number lessthan6} = {1,2,3,4,5,6}
AUB={1,2,4,536,9,12..}

- AUB={x:x=1,2,4,5 oramultipleof 3}

(iv) A={x:xisanaturalnumberandl<x<6}={23 4,56}
B ={x: xisanatural numberand 6 < x <10} ={7,8,9}
AUB={2,3,4,5,6,7,8,9!

- AUB={x:xe Nandl< x <10}

(v) A={1,2,3}, B=@

AUB={1,2,3

Let A={a,b},B={a,b,c}. Is AcB? Whatis AUB?

Solution 2:

Here, A={a,b} and B={a,b,c}
Yes, AcB

AUB={ab,c}=B




If A and B are two sets such that A= B, then what is AuUB?

Solution 3:

If A and B are two sets such that Ac B, then AuUB=B.

If A={1,2,3,4},B={34,5,6},C={56,7,8! and D={7,8,9,10}; find

() AuB

(i) AuC

(i) BLUC

(iv) BUD

(v) AuBUC

(vi) AuBUD
(vii) BUCuUD

Solution 4:

A={1,2,34],B={3,4,5,6},C={5,6,7,8} and D={7,8,9,10}
(i) AUB={12,34,56)

(i) AUC={12,34,5,6,7,8}

(i) BUC={3,4,5,6,7,8}

(iv) BUD={3,4,5,6,7,8,9,10}

(v) AUBUC = {1 234567080} B ={a,b,c}

(viy AUBUD={1,2,34,5,6,7,8,9,10}

(vii) BUCUD={34,5,6,7,8,9,10}

Find the intersection of each pair of sets:

(i) X ={1,35}Y ={1,2,3}
(ii)



(ii)
B = {x: xisa natural number less than 6}

(iv) A={x:xisanatural numberandl< x <6}

(v) A={1,2,3},B=0

Solution 5:

(i) X ={1,35},Y ={1,2,3}

XY ={13}

(i) A={a,ei,o,u},B={ab,c}

ANB={a}

(iii) A={x:xisanatural numberand multipleof 3} ={3,6,9...}
B = {x: xisanatural number lessthan 6} = {1, 2,3,4,5}

. ANB={3

(iv) A={x:xisanaturalnumberandl<x<6} ={2,3 4,5,6}
B ={x: xisanatural numberand 6 < x <10} ={7,8,9}
ANB=Y

(v) A={1,2,3},B=0

ANB=Y

If A={3,5,7,9,11},B={7,9,11,13},C ={1113,15} and D={15,17}; find
(i) ANB

(i) BNC

(i) ANCND

(iv) ANC

(v) BND



(vi) AN(BUC)

(vii) AND

(viii) AN(BUD)
(iX) (ANB)N(BUC)
(%) (AUD)N(BUC)

Solution 6:

(i) ANB={7,9,11)

(i) BNC ={11,13)

(i) ANCND={ANC}ND={11}N{1517} =2
(iv) ANC {11}

(v) BND=Q

(vi) AN(BUC)=(ANB)U(ANC)
={7,9111U{11} ={7,9,11

(vi) AND=2

(viii) AN(BUD)=(ANB)U(AND)

={7,911 U ={7,9,11}

(i) (ANB)N(BUC)={7,9,11}1{7,9,11,1315} ={7,9,11}

(x) (AUD)N(BUC)={3,5,7,9,11,1517}{7,9,11,1315!

={7,9,11,15)

If A={x:xisanaturalnumber}, B={x: xisaneven natural number}

C ={x: xisan odd natural number } and D = {x : xisa prime number }, find

(i) ANB
(i) ANC
(i) AND



(iv) BNC
(v) BND
(vi) CND

Solution 7:

A={x:xisanatural number} ={1,2,3,4,5...}

B ={x: xisaneven natural number} ={2,4,6,8...}
C ={x: xisan odd natural number} ={1,3,5,7,9...}
D ={x: xisaprimenumber} ={2,35,7...}

() ANB={x:x isaeven natural number} =B

(i) ANC ={x:xisanodd natural number} =C
(ili) AND ={x:xisaprimenumber} =D

(iv) BNC=9

(v) BND={2}

(vi) CND ={x: xisodd prime number}

Which of the following pairs of sets are disjoint

(i) {12,3,4} and {x:xisanatural numberand 4 < x <6}
(i) {a,e,i,o,u} and {c,d,e, f}

(iii) {x:xisaneveninteger fand{x: xisanoddinteger }

Solution 8:

(i) {12,3,4}

{x: xisanatural numberand4 < x <6} = {4,5,6}
Now, {1,2,3,41{4,5,6} = {4}

Therefore, this pair of sets is not disjoint.



(i) {a,ei,o,u}N{c,d,e f}={e}
Therefore, {a,e,i,o,u}and{c,d,e, f} are not disjoint.
(iii) {x:xisaneveninteger}N{x: xisanoddinteger} =<

Therefore, this pair of sets is disjoint.

If A={3,6,9,12,15,18,21},B ={4,8,12,16, 20},
C={2,4,6,8,10,12,14,16}, D = {5,10,15, 20}; find
(i) A-B

(i) A-C

(i) A-D

(iv) B-A

(v) C-A

(vi) D-A

(vii) B-C

(viii) B-D

(ix) C-B

(x) D-B

(xiy C-D

(xii) D-C

Solution 9:

(i) A-B={3,6,9,1518,21}
(i) A-C={3,9,15,18,21}
(i) A-D={3,6,9,12,18,21}
(iv) B—A={4,8,16,20}

(v) C—A={2,4,810,14,16}
(vi) D—A={5,10,20}

(vii) B—C ={20}



(viii) B—-D={4,8,12,16}

(ix) C-B={2,6,10,14}

(x) D-B={5,10,15}

(xi) C-D={2,4,6,8,12,14,16}

(xii) D—C ={5,15,20}

If X ={a,b,c,d} and Y ={f,b,d,g}, find
(i) X —Y

(i) Y —X

(i) X NY

Solution 10:
(i) X-Y ={a,c}
(i) Y-=X ={f,g}

(iii) XNY ={b,d}

IF R is the set real numbers and Q is the set of rational numbers, then what is R — Q?

Solution 11:
R: Set of real numbers
Q: Set of rational numbers

Therefore, R — Q is a set of irrational number.

State whether each of the following statement is true or false. Justify you answer.

(i) {2,3,4,5} and {3,6} are disjoint sets.

(ii) {a,e,i,o,u} and {a,b,c,d} are disjoint sets.



(iii) {2,6,10,14} and {3,7,11,15} are disjoint sets.

(iv) {2,6,10} and {3,7,11} are disjoint sets.

Solution 12:

(i) False

As 3¢{2,3,4,5},3¢{3 6}

:>{2, 3,4, 5}0{3, 6} ={3}

(i) False

As ae{a,e,i,ou},ae{abc,d}
={a,ei,o,ujN{ab,c.d}={a}
(iii) True

As {2,6,10,14) N {3,7,1115}= @.
(iv) True

As {2,6,10}1{3,7,11} =@






